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1)

Question Stimulus :­

Fill in the blank with the correct option.

Martha______  never  have  achieved  this  without  the  encouragement  of  her
family and friends.

could

can

must

dare

Correct Answer :­could 

2)

Question Stimulus :­

Fill in the blank with the correct option.

I brought him some sandwiches because I thought he _____be hungry.

can

might

need

should

Correct Answer :­might 

3)

Question Stimulus :­

Fill in the blank with the correct option.

Food _____be heated to a high temperature to kill harmful bacteria.



can

could

might

must

Correct Answer :­must 

4)

Question Stimulus :­

Fill in the blank with the correct preposition.

My aunt has to look _____her sick husband and two little daughters.

at

into

for

after

Correct Answer :­after 

5)

Question Stimulus :­

Fill in the blank with the correct preposition.

We brought _____the puppies carefully and sold them for a good profit.

about

down

up

off

Correct Answer :­up 

6)

Question Stimulus :­

Fill in the blank with the correct prepositions.



You can buy a plastic cover to put _____ your computer if you’re worried ______ dust.

in, for

off, over

under, about

over, about

Correct Answer :­over, about 

7)

Question Stimulus :­

Fill in the blank with the correct preposition.

She took her coat _____ and hung it up.

off

on

in

from

Correct Answer :­off 

8)

Question Stimulus :­

Choose the grammatically correct sentence out of the given options.

An apple a day keeps doctor away

A apple a day keeps the doctor away

An apple a day keeps the doctor away

An apple an day keeps the doctor away

Correct Answer :­An apple a day keeps the doctor away 

9)

Question Stimulus :­



DIRECTION: In the following question, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: lf there is no error, mark
your answer as ‘No error’.

In the country

of the blind

an one eyed man is king.

No Error

Correct Answer :­an one eyed man is king. 

10)

Question Stimulus :­

DIRECTION: In the following question, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: lf there is no error, mark
your answer as ‘No error’.

Tom was clearly in hurry

to finish the meeting

and reach the canteen.

No Error

Correct Answer :­Tom was clearly in hurry 

11)

Question Stimulus :­

DIRECTION: In the following question, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: lf there is no error, mark
your answer as ‘No error’.

A journey of

a thousand miles

begin with a single step.

No Error

Correct Answer :­begin with a single step. 

12)



12)

Question Stimulus :­

DIRECTION: In the following question, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: lf there is no error, mark
your answer as ‘No error’.

People who lives

in glass houses

should not throw stones at others.

No Error

Correct Answer :­People who lives 

13)

Question Stimulus :­

DIRECTION: In the following question, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: lf there is no error, mark
your answer as ‘No error’.

His Maternal Uncle

have passed away at Gwalior

in Madhya Pradesh.

No Error

Correct Answer :­have passed away at Gwalior 

14)

Question Stimulus :­

DIRECTION: In the following question, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: lf there is no error, mark
your answer as ‘No error’.

She will come to meet you

as soon as

you will reach New Delhi Station.

No Error



Correct Answer :­you will reach New Delhi Station. 

15)

Question Stimulus :­

DIRECTION:  In  the  following question,  some of  the  sentences have errors  and  some
have none. Find out which part of a sentence has an error:  lf  there  is no error, mark
your answer as ‘No error’.

If I have studied harder,

I would have

passed the exam.

No Error

Correct Answer :­If I have studied harder, 

16)

Question Stimulus :­

DIRECTION: In the following question, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: lf there is no error, mark
your answer as ‘No error’.

Although she is hungry,

she will give her classmates

some of her food.

No Error

Correct Answer :­No Error 

17)

Question Stimulus :­

Fill in the blank with the correct option.

He has spent _____ money that he had.

the few

little

a little



the little

Correct Answer :­the little 

18)

Question Stimulus :­

Fill in the blank with the correct option.

_____ students that were there in the class were sitting idle.

A few

The few

An few

The fewer

Correct Answer :­The few 

19)

Question Stimulus :­

Fill in the blank with the correct option.

He had ______ difficulty with his homework.

a little

few

a few

the little

Correct Answer :­a little 

20)

Question Stimulus :­

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

Rama said. “I am very busy now.”

Rama said that he was very busy now.



Rama said that he was very busy then.

Rama said that he was being very busy then.

Rama says that he is very busy now.

Correct Answer :­Rama said that he was very busy then. 

21)

Question Stimulus :­

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

He said, “The horse died in the night.”

He said that the horse died in the night.

He said that the horse died during the night.

He said that the horse has died in the night.

He said that the horse had died in the night.

Correct Answer :­He said that the horse had died in the night. 

22)

Question Stimulus :­

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

He says, “I am in deep trouble".

He says that he was in deep trouble.

He said that he was in deep trouble.

He says that he has been in deep trouble.

He says that he is in deep trouble.

Correct Answer :­He says that he is in deep trouble. 

23)

Question Stimulus :­



Out of the given options, choose the one which is the correct passive voice of the
sentence given below.

Who did this work?

Who has done this work?

This work was done by who?

By whom was this work done?

This work was done by whom?

Correct Answer :­By whom was this work done? 

24)

Question Stimulus :­

Out of the given options, choose the one which is the correct active voice of the
sentence given below.

The assignment had not been completed by me.

I have not completed the assignment.

I had not completed the assignment.

I had not been completing the assignment.

The assignment was not completed by me.

Correct Answer :­I had not completed the assignment. 

25)

Question Stimulus :­

Out of the given options, choose the one which is the correct passive voice of the
sentence given below.

Open the door.

I ask you to open the door.

You are being asked by me to open the door.

Let the door be opened.

Unlock the door please.



Correct Answer :­Let the door be opened. 

26)

Question Stimulus :­

DIRECTIONS: Read the following passage carefully and answer the following questions.

The Komodo dragon is a large species of lizard found in the Indonesian islands of
Komodo, Rinca, Flores, Gili Motang and Gili Dasami. Komodo dragons are carnivores.
They mostly eat carrion. They ambush live prey with a stealthy approach. It is able to
locate its prey using its keen sense of smell, which can locate a dead or dying animal
from a range of up to 9.5 kilometres. The Komodo dragon prefers hot and dry places. It
lives typically in dry open grassland, Savanna, and tropical forest at low elevations. It
is most active in the day, although it exhibits some noctural activity.

Komodo dragons live in solitary. They come together only to breed and eat. They are
capable of running rapidly in brief sprints up to 20 kilometres per hour. As the Komodo
dragon matures, its claws are used primarily as weapons, as its great size makes
climbing impractical. The Komodo dragon does not have an acute sense of hearing,
despite its visible earholes. It is able to see as far away as 300 metres. It is thought to
have poor night vision. The evolutionary development of the Komodo dragon started
with the Varanus genus, which originated in Asia about 40 million years ago.

 

What is the meaning of the word ‘carrion’?

Fresh and juicy roots and stems of wild plants

Green and leafy plants

The dead and putrefying body or flesh of an animal

None of the above

Correct Answer :­The dead and putrefying body or flesh of an animal 

27)

Question Stimulus :­

DIRECTIONS: Read the following passage carefully and answer the following questions.

The Komodo dragon is a large species of lizard found in the Indonesian islands of
Komodo, Rinca, Flores, Gili Motang and Gili Dasami. Komodo dragons are carnivores.
They mostly eat carrion. They ambush live prey with a stealthy approach. It is able to
locate its prey using its keen sense of smell, which can locate a dead or dying animal
from a range of up to 9.5 kilometres. The Komodo dragon prefers hot and dry places. It
lives typically in dry open grassland, Savanna, and tropical forest at low elevations. It
is most active in the day, although it exhibits some noctural activity.



Komodo dragons live in solitary. They come together only to breed and eat. They are
capable of running rapidly in brief sprints up to 20 kilometres per hour. As the Komodo
dragon matures, its claws are used primarily as weapons, as its great size makes
climbing impractical. The Komodo dragon does not have an acute sense of hearing,
despite its visible earholes. It is able to see as far away as 300 metres. It is thought to
have poor night vision. The evolutionary development of the Komodo dragon started
with the Varanus genus, which originated in Asia about 40 million years ago.

 

How does the Komodo dragon catch its prey?

By the sense of active hearing

By the sense of clear vision

By the sense of smell

None of the above

Correct Answer :­By the sense of smell 

28)

Question Stimulus :­

DIRECTIONS: Read the following passage carefully and answer the following questions.

The Komodo dragon is a large species of lizard found in the Indonesian islands of
Komodo, Rinca, Flores, Gili Motang and Gili Dasami. Komodo dragons are carnivores.
They mostly eat carrion. They ambush live prey with a stealthy approach. It is able to
locate its prey using its keen sense of smell, which can locate a dead or dying animal
from a range of up to 9.5 kilometres. The Komodo dragon prefers hot and dry places. It
lives typically in dry open grassland, Savanna, and tropical forest at low elevations. It
is most active in the day, although it exhibits some noctural activity.

Komodo dragons live in solitary. They come together only to breed and eat. They are
capable of running rapidly in brief sprints up to 20 kilometres per hour. As the Komodo
dragon matures, its claws are used primarily as weapons, as its great size makes
climbing impractical. The Komodo dragon does not have an acute sense of hearing,
despite its visible earholes. It is able to see as far away as 300 metres. It is thought to
have poor night vision. The evolutionary development of the Komodo dragon started
with the Varanus genus, which originated in Asia about 40 million years ago.

 

Which organs of Komodo dragon are sharp and aids in the hunting of prey and
movement?

Tough and resistant skin

Long tongue



Claws

None of the above

Correct Answer :­Claws 

29)

Question Stimulus :­

DIRECTIONS: Read the following passage carefully and answer the following questions.

The Komodo dragon is a large species of lizard found in the Indonesian islands of
Komodo, Rinca, Flores, Gili Motang and Gili Dasami. Komodo dragons are carnivores.
They mostly eat carrion. They ambush live prey with a stealthy approach. It is able to
locate its prey using its keen sense of smell, which can locate a dead or dying animal
from a range of up to 9.5 kilometres. The Komodo dragon prefers hot and dry places. It
lives typically in dry open grassland, Savanna, and tropical forest at low elevations. It
is most active in the day, although it exhibits some noctural activity.

Komodo dragons live in solitary. They come together only to breed and eat. They are
capable of running rapidly in brief sprints up to 20 kilometres per hour. As the Komodo
dragon matures, its claws are used primarily as weapons, as its great size makes
climbing impractical. The Komodo dragon does not have an acute sense of hearing,
despite its visible earholes. It is able to see as far away as 300 metres. It is thought to
have poor night vision. The evolutionary development of the Komodo dragon started
with the Varanus genus, which originated in Asia about 40 million years ago.

 

What does the word ‘ambush’ mean?

A surprise attack

A warm welcome

Run a race

None of the above

Correct Answer :­A surprise attack 

30)

Question Stimulus :­

DIRECTIONS: Read the following passage carefully and answer the following questions.

The Komodo dragon is a large species of lizard found in the Indonesian islands of
Komodo, Rinca, Flores, Gili Motang and Gili Dasami. Komodo dragons are carnivores.
They mostly eat carrion. They ambush live prey with a stealthy approach. It is able to
locate its prey using its keen sense of smell, which can locate a dead or dying animal
from a range of up to 9.5 kilometres. The Komodo dragon prefers hot and dry places. It



lives typically in dry open grassland, Savanna, and tropical forest at low elevations. It
is most active in the day, although it exhibits some noctural activity.

Komodo dragons live in solitary. They come together only to breed and eat. They are
capable of running rapidly in brief sprints up to 20 kilometres per hour. As the Komodo
dragon matures, its claws are used primarily as weapons, as its great size makes
climbing impractical. The Komodo dragon does not have an acute sense of hearing,
despite its visible earholes. It is able to see as far away as 300 metres. It is thought to
have poor night vision. The evolutionary development of the Komodo dragon started
with the Varanus genus, which originated in Asia about 40 million years ago.

 

What is the natural abode of Komodo dragons?

Wild grasslands

Damp and wet areas

Hot and dry places

None of the above

Correct Answer :­Hot and dry places 

Topic:­ Hindi
1)

Question Stimulus :­

िनηिलεखत ग̇ाशं को Єानपवू└क पढ़कर उसके नीच ेिदय ेगय ेबîिवकώी ĸъ नो ंमg सही िवकώ का चयन
करg।

 

‘डारिवन’ का कहना ह ैिक ĸέके ĸाणी मg यह मलू लāण पाया जाता ह ैिक वह अपनी शεőभर अपनी रāा
करता ह ैतथा अपनी आवЇकताओ ंकी पिूत└ के िलए अपन ेवातावरण की पिूत└ करता ह।ै इसी इẅा से
पδरचािलत हो वह अपन ेअεЭ̆ को कायम रखन ेकी चЊेा करता ह ैतथा अपन ेिवकास­ājे को फैलाता रहता
ह।ै दिुनया मg खा̇ सामĭी का पδरमाण सीिमत ह,ै पर खान ेवाल ेĸािणयो ंकी सġंा बîत तजेी स ेबढ़ती रहती
ह।ै अतएव िविभΌ ĸािणयो ंमg खा̇­सामĭी के िलए सघंष└ होन ेलगता ह।ै इस सघंष└ मg जो ĸाणी वातावरण के
अनकुूल सबस ेउपयőु तथा शεőशाली रहत ेहġ, उनकी िवजय होती ह ैतथा जो शεőहीन हġ,  उनका िवनाश।
जब एक सीगंवाल ेतथा उसी तरह के िबना सीगं वाल ेजानवर के बीच सघंष└ होता ह ैतो उस सघंष└ मg सीगं वाले
जानवर की िवजय होती ह,ै sोिंक वातावरण के अनकुूल इसमg सीगं का िवकास हो गया ह।ै अतएव वह िबना
सीगं वाल ेजानवर की अपāेा अिधक शεőशाली तथा उपयőु ह।ै ‘डारिवन’ के अनसुार ĸािणयो ंके इस सघंष└
मg उपयőु तथा शεőशाली ĸाणी की ही जीत होती ह ैतथा उनका ही अεЭ̆ कायम रहता ह।ै शεőहीन
ĸािणयो ंका िवनाश हो जाता ह।ै ‘डारिवन’ के इस िसοातं को शεőशािलयो ंका अεЭ̆ कायम रहना कहते
हġ।  

 

ĸित ĸाणी का मलू लāण sा ह ै?



अपनी शεő­भर रāा करना तथा अपनी आवЇकताओ ंकी पिूत└ करना।

अपनी जनसġंा को बढ़ाना

अपन ेको जीिवत रखन ेके िलए खा̇­सामĭी खाना

सघंष└ करना

Correct Answer :­अपनी शεő­भर रāा करना तथा अपनी आवЇकताओ ंकी पिूत└ करना। 

2)

Question Stimulus :­

िनηिलεखत ग̇ाशं को Єानपवू└क पढ़कर उसके नीच ेिदय ेगय ेबîिवकώी ĸъ नो ंमg सही िवकώ का चयन
करg।

 

‘डारिवन’ का कहना ह ैिक ĸέके ĸाणी मg यह मलू लāण पाया जाता ह ैिक वह अपनी शεőभर अपनी रāा
करता ह ैतथा अपनी आवЇकताओ ंकी पिूत└ के िलए अपन ेवातावरण की पिूत└ करता ह।ै इसी इẅा से
पδरचािलत हो वह अपन ेअεЭ̆ को कायम रखन ेकी चЊेा करता ह ैतथा अपन ेिवकास­ājे को फैलाता रहता
ह।ै दिुनया मg खा̇ सामĭी का पδरमाण सीिमत ह,ै पर खान ेवाल ेĸािणयो ंकी सġंा बîत तजेी स ेबढ़ती रहती
ह।ै अतएव िविभΌ ĸािणयो ंमg खा̇­सामĭी के िलए सघंष└ होन ेलगता ह।ै इस सघंष└ मg जो ĸाणी वातावरण के
अनकुूल सबस ेउपयőु तथा शεőशाली रहत ेहġ, उनकी िवजय होती ह ैतथा जो शεőहीन हġ,  उनका िवनाश।
जब एक सीगंवाल ेतथा उसी तरह के िबना सीगं वाल ेजानवर के बीच सघंष└ होता ह ैतो उस सघंष└ मg सीगं वाले
जानवर की िवजय होती ह,ै sोिंक वातावरण के अनकुूल इसमg सीगं का िवकास हो गया ह।ै अतएव वह िबना
सीगं वाल ेजानवर की अपāेा अिधक शεőशाली तथा उपयőु ह।ै ‘डारिवन’ के अनसुार ĸािणयो ंके इस सघंष└
मg उपयőु तथा शεőशाली ĸाणी की ही जीत होती ह ैतथा उनका ही अεЭ̆ कायम रहता ह।ै शεőहीन
ĸािणयो ंका िवनाश हो जाता ह।ै ‘डारिवन’ के इस िसοातं को शεőशािलयो ंका अεЭ̆ कायम रहना कहते
हġ।

 

दिुनया मg कौन­सी वЭ ुसीिमत माjा मg ह ै?

ĸािणयो ंकी सġंा

ĸािणयो ंकी आवъ यकताएं

खा̇­सामĭी की माjा

शεőशाली ĸािणयो ंकी सġंा

Correct Answer :­खा̇­सामĭी की माjा 

3)

Question Stimulus :­



िनηिलεखत ग̇ाशं को Єानपवू└क पढ़कर उसके नीच ेिदय ेगय ेबîिवकώी ĸъ नो ंमg सही िवकώ का चयन
करg।

 

‘डारिवन’ का कहना ह ैिक ĸέके ĸाणी मg यह मलू लāण पाया जाता ह ैिक वह अपनी शεőभर अपनी रāा
करता ह ैतथा अपनी आवЇकताओ ंकी पिूत└ के िलए अपन ेवातावरण की पिूत└ करता ह।ै इसी इẅा से
पδरचािलत हो वह अपन ेअεЭ̆ को कायम रखन ेकी चЊेा करता ह ैतथा अपन ेिवकास­ājे को फैलाता रहता
ह।ै दिुनया मg खा̇ सामĭी का पδरमाण सीिमत ह,ै पर खान ेवाल ेĸािणयो ंकी सġंा बîत तजेी स ेबढ़ती रहती
ह।ै अतएव िविभΌ ĸािणयो ंमg खा̇­सामĭी के िलए सघंष└ होन ेलगता ह।ै इस सघंष└ मg जो ĸाणी वातावरण के
अनकुूल सबस ेउपयőु तथा शεőशाली रहत ेहġ, उनकी िवजय होती ह ैतथा जो शεőहीन हġ,  उनका िवनाश।
जब एक सीगंवाल ेतथा उसी तरह के िबना सीगं वाल ेजानवर के बीच सघंष└ होता ह ैतो उस सघंष└ मg सीगं वाले
जानवर की िवजय होती ह,ै sोिंक वातावरण के अनकुूल इसमg सीगं का िवकास हो गया ह।ै अतएव वह िबना
सीगं वाल ेजानवर की अपāेा अिधक शεőशाली तथा उपयőु ह।ै ‘डारिवन’ के अनसुार ĸािणयो ंके इस सघंष└
मg उपयőु तथा शεőशाली ĸाणी की ही जीत होती ह ैतथा उनका ही अεЭ̆ कायम रहता ह।ै शεőहीन
ĸािणयो ंका िवनाश हो जाता ह।ै ‘डारिवन’ के इस िसοातं को शεőशािलयो ंका अεЭ̆ कायम रहना कहते
हġ।

 

िविभΌ ĸािणयो ंमg सघंष└ sो ंहोता ह ै?

अपनी रāा करन ेके िलए

भोजन के िलए

जीिवत रहन ेके िलए

दूसरो ंपर अिधकार जमान ेके िलए

Correct Answer :­भोजन के िलए 

4)

Question Stimulus :­

िनηिलεखत ग̇ाशं को Єानपवू└क पढ़कर उसके नीच ेिदय ेगय ेबîिवकώी ĸъ नो ंमg सही िवकώ का चयन
करg।

 

‘डारिवन’ का कहना ह ैिक ĸέके ĸाणी मg यह मलू लāण पाया जाता ह ैिक वह अपनी शεőभर अपनी रāा
करता ह ैतथा अपनी आवЇकताओ ंकी पिूत└ के िलए अपन ेवातावरण की पिूत└ करता ह।ै इसी इẅा से
पδरचािलत हो वह अपन ेअεЭ̆ को कायम रखन ेकी चЊेा करता ह ैतथा अपन ेिवकास­ājे को फैलाता रहता
ह।ै दिुनया मg खा̇ सामĭी का पδरमाण सीिमत ह,ै पर खान ेवाल ेĸािणयो ंकी सġंा बîत तजेी स ेबढ़ती रहती
ह।ै अतएव िविभΌ ĸािणयो ंमg खा̇­सामĭी के िलए सघंष└ होन ेलगता ह।ै इस सघंष└ मg जो ĸाणी वातावरण के
अनकुूल सबस ेउपयőु तथा शεőशाली रहत ेहġ, उनकी िवजय होती ह ैतथा जो शεőहीन हġ,  उनका िवनाश।
जब एक सीगंवाल ेतथा उसी तरह के िबना सीगं वाल ेजानवर के बीच सघंष└ होता ह ैतो उस सघंष└ मg सीगं वाले
जानवर की िवजय होती ह,ै sोिंक वातावरण के अनकुूल इसमg सीगं का िवकास हो गया ह।ै अतएव वह िबना

सीगं वाल ेजानवर की अपāेा अिधक शεőशाली तथा उपयőु ह।ै ‘डारिवन’ के अनसुार ĸािणयो ंके इस सघंष└



सीगं वाल ेजानवर की अपāेा अिधक शεőशाली तथा उपयőु ह।ै ‘डारिवन’ के अनसुार ĸािणयो ंके इस सघंष└
मg उपयőु तथा शεőशाली ĸाणी की ही जीत होती ह ैतथा उनका ही अεЭ̆ कायम रहता ह।ै शεőहीन
ĸािणयो ंका िवनाश हो जाता ह।ै ‘डारिवन’ के इस िसοातं को शεőशािलयो ंका अεЭ̆ कायम रहना कहते
हġ।

 

सघंष└ मg िकसकी जीत होती ह ै?

जो ĸाणी वातावरण के अनकुूल होता ह।ै

जो ĸाणी वातावरण के अनकुूल सबस ेउपयőु तथा शεőशाली होत ेह।ै

जो ĸाणी सबस ेअिधक खा̇­सामĭी ĸाЧ कर लते ेह।ै

जो ĸाणी सबस ेअिधक शεő हीन होता ह।ै

Correct Answer :­जो ĸाणी वातावरण के अनकुूल सबस ेउपयőु तथा शεőशाली होत ेह।ै 

5)

Question Stimulus :­

िनηिलεखत ग̇ाशं को Єानपवू└क पढ़कर उसके नीच ेिदय ेगय ेबîिवकώी ĸъ नो ंमg सही िवकώ का चयन
करg।

 

‘डारिवन’ का कहना ह ैिक ĸέके ĸाणी मg यह मलू लāण पाया जाता ह ैिक वह अपनी शεőभर अपनी रāा
करता ह ैतथा अपनी आवЇकताओ ंकी पिूत└ के िलए अपन ेवातावरण की पिूत└ करता ह।ै इसी इẅा से
पδरचािलत हो वह अपन ेअεЭ̆ को कायम रखन ेकी चЊेा करता ह ैतथा अपन ेिवकास­ājे को फैलाता रहता
ह।ै दिुनया मg खा̇ सामĭी का पδरमाण सीिमत ह,ै पर खान ेवाल ेĸािणयो ंकी सġंा बîत तजेी स ेबढ़ती रहती
ह।ै अतएव िविभΌ ĸािणयो ंमg खा̇­सामĭी के िलए सघंष└ होन ेलगता ह।ै इस सघंष└ मg जो ĸाणी वातावरण के
अनकुूल सबस ेउपयőु तथा शεőशाली रहत ेहġ, उनकी िवजय होती ह ैतथा जो शεőहीन हġ,  उनका िवनाश।
जब एक सीगंवाल ेतथा उसी तरह के िबना सीगं वाल ेजानवर के बीच सघंष└ होता ह ैतो उस सघंष└ मg सीगं वाले
जानवर की िवजय होती ह,ै sोिंक वातावरण के अनकुूल इसमg सीगं का िवकास हो गया ह।ै अतएव वह िबना
सीगं वाल ेजानवर की अपāेा अिधक शεőशाली तथा उपयőु ह।ै ‘डारिवन’ के अनसुार ĸािणयो ंके इस सघंष└
मg उपयőु तथा शεőशाली ĸाणी की ही जीत होती ह ैतथा उनका ही अεЭ̆ कायम रहता ह।ै शεőहीन
ĸािणयो ंका िवनाश हो जाता ह।ै ‘डारिवन’ के इस िसοातं को शεőशािलयो ंका अεЭ̆ कायम रहना कहते
हġ।

 

‘शεőशाली’ का िवलोम शс द होगा­

शεő वान

शεő मान



शεő हीन

शεő शिलनी

Correct Answer :­शεő हीन 

6)

Question Stimulus :­

िनηिलεखत काҐाशं को Єानपवू└क पढ़कर उसके नीच ेिदय ेगय ेबîिवकώी ĸъ नो ंमg सही िवकώ का चयन
करg।

 

नीलाѕर पδरधान हδरत पट पर सुंदर है

सयू└ चĵं यगु­मकुुट,मखेला रΤाकार है

निदया ँĸमे­ĸवाह, फूल तारे मडंल हġ

बदंीजन खग­वृंद, शषेफन िसहंासन हġ

करत ेअिभषके पयोद हġ, बिलहारी इस वशे की

ह ेमातभृिूम! त ूसέ ही, सगणु मिूत└ सवĝश की;

िजसकी रज मg लोट­लोटकर बड़ ेîय ेहġ

घटुनो ंके बल सरक­सरककर खड़ ेîय ेहġ

परमहसं सम बा·काल मg सब सखु पाये

िजसके कारण ‘धलू भरे हीरे’ कहलाए

हम खले­ेकूंद ेहष└यतु, िजसकी Эारी गोद मg

ह ेमातभृिूम ! तझुको िनरख, मĬ sो ंन हो मोद मg

िनम└ल तरेा नीर अमतृ के सम उ̃म है

शीतल मदं सगुधं पवन हर लतेा mम है

षटऋ्तओु ंका िविवध ۴ъ य यतु अद्भुत ïम है

हδरयाली का फश└ नही ंमखमल स ेकम है

शिुच­सधुा सीचंता रात मg, तझु पर चĵंĸकाश है

ह ेमातभृिूम ! िदन मg तरिण, करता तम का नाश ह ै 

 

ĸЭतु काҐाशं मg ‘‘हδरत पट’’ िकस ेकहा गया हġ­



ĸЭतु काҐाशं मg ‘‘हδरत पट’’ िकस ेकहा गया हġ­

शּק ъ यामला धरती को

वन­वनּמित को

चî ँओर फैली हδरयाली को

उपयőु तीनो ंको

Correct Answer :­उपयőु तीनो ंको 

7)

Question Stimulus :­

िनηिलεखत काҐाशं को Єानपवू└क पढ़कर उसके नीच ेिदय ेगय ेबîिवकώी ĸъ नो ंमg सही िवकώ का चयन
करg।

 

नीलाѕर पδरधान हδरत पट पर सुंदर है

सयू└ चĵं यगु­मकुुट,मखेला रΤाकार है

निदया ँĸमे­ĸवाह, फूल तारे मडंल हġ

बदंीजन खग­वृंद, शषेफन िसहंासन हġ

करत ेअिभषके पयोद हġ, बिलहारी इस वशे की

ह ेमातभृिूम! त ूसέ ही, सगणु मिूत└ सवĝश की;

िजसकी रज मg लोट­लोटकर बड़ ेîय ेहġ

घटुनो ंके बल सरक­सरककर खड़ ेîय ेहġ

परमहसं सम बा·काल मg सब सखु पाये

िजसके कारण ‘धलू भरे हीरे’ कहलाए

हम खले­ेकूंद ेहष└यतु, िजसकी Эारी गोद मg

ह ेमातभृिूम ! तझुको िनरख, मĬ sो ंन हो मोद मg

िनम└ल तरेा नीर अमतृ के सम उ̃म है

शीतल मदं सगुधं पवन हर लतेा mम है

षटऋ्तओु ंका िविवध ۴ъ य यतु अद्भुत ïम है

हδरयाली का फश└ नही ंमखमल स ेकम है



हδरयाली का फश└ नही ंमखमल स ेकम है

शिुच­सधुा सीचंता रात मg, तझु पर चĵंĸकाश है

ह ेमातभृिूम ! िदन मg तरिण, करता तम का नाश ह ै

 

किव अपनी मातभृिूम के जल की sा­sा िवशषेता बताता ह­ै

शीतल अּתẅ एव ंिनम└ल ह।ै

शीतल, ּתẅ एव ंिनम└ल ह।ै

ẅ एव ंअिनम└ल ह।ैתּ

शीतल अּתẅ एव ंअिनम└ल ह।ै

Correct Answer :­शीतल, ּתẅ एव ंिनम└ल ह।ै 

8)

Question Stimulus :­

िनηिलεखत काҐाशं को Єानपवू└क पढ़कर उसके नीच ेिदय ेगय ेबîिवकώी ĸъ नो ंमg सही िवकώ का चयन
करg।

 

नीलाѕर पδरधान हδरत पट पर सुंदर है

सयू└ चĵं यगु­मकुुट,मखेला रΤाकार है

निदया ँĸमे­ĸवाह, फूल तारे मडंल हġ

बदंीजन खग­वृंद, शषेफन िसहंासन हġ

करत ेअिभषके पयोद हġ, बिलहारी इस वशे की

ह ेमातभृिूम! त ूसέ ही, सगणु मिूत└ सवĝश की;

िजसकी रज मg लोट­लोटकर बड़ ेîय ेहġ

घटुनो ंके बल सरक­सरककर खड़ ेîय ेहġ

परमहसं सम बा·काल मg सब सखु पाये

िजसके कारण ‘धलू भरे हीरे’ कहलाए

हम खले­ेकूंद ेहष└यतु, िजसकी Эारी गोद मg

ह ेमातभृिूम ! तझुको िनरख, मĬ sो ंन हो मोद मg
िनम└ल तरेा नीर अमतृ के सम उ̃म है



िनम└ल तरेा नीर अमतृ के सम उ̃म है

शीतल मदं सगुधं पवन हर लतेा mम है

षटऋ्तओु ंका िविवध ۴ъ य यतु अद्भुत ïम है

हδरयाली का फश└ नही ंमखमल स ेकम है

शिुच­सधुा सीचंता रात मg, तझु पर चĵंĸकाश है

ह ेमातभृिूम ! िदन मg तरिण, करता तम का नाश ह ै

 

‘‘धलू भरे हीरे’’ िकΨg कहा गया ह?ै

धलू स ेयőु मातभृिूम को

मातभृिूम की योù एव ंअम·ू सतंानg

उपरोő दोनों

इनमg स ेकोई नहीं

Correct Answer :­मातभृिूम की योù एव ंअम·ू सतंानg 

9)

Question Stimulus :­

िनηिलεखत काҐाशं को Єानपवू└क पढ़कर उसके नीच ेिदय ेगय ेबîिवकώी ĸъ नो ंमg सही िवकώ का चयन
करg।

 

नीलाѕर पδरधान हδरत पट पर सुंदर है

सयू└ चĵं यगु­मकुुट,मखेला रΤाकार है

निदया ँĸमे­ĸवाह, फूल तारे मडंल हġ

बदंीजन खग­वृंद, शषेफन िसहंासन हġ

करत ेअिभषके पयोद हġ, बिलहारी इस वशे की

ह ेमातभृिूम! त ूसέ ही, सगणु मिूत└ सवĝश की;

िजसकी रज मg लोट­लोटकर बड़ ेîय ेहġ

घटुनो ंके बल सरक­सरककर खड़ ेîय ेहġ

परमहसं सम बा·काल मg सब सखु पाये



िजसके कारण ‘धलू भरे हीरे’ कहलाए

हम खले­ेकूंद ेहष└यतु, िजसकी Эारी गोद मg

ह ेमातभृिूम ! तझुको िनरख, मĬ sो ंन हो मोद मg

िनम└ल तरेा नीर अमतृ के सम उ̃म है

शीतल मदं सगुधं पवन हर लतेा mम है

षटऋ्तओु ंका िविवध ۴ъ य यतु अद्भुत ïम है

हδरयाली का फश└ नही ंमखमल स ेकम है

शिुच­सधुा सीचंता रात मg, तझु पर चĵंĸकाश है

ह ेमातभृिूम ! िदन मg तरिण, करता तम का नाश ह ै

 

उपमा अलकंार का उदाहरण छािंटए­

परमहसं सम वा·काल मg सब सखु पाए

नीलाѕर पδरधान हδरत पट पर सुंदर हġ

शीतल मदं सगुधं पवन हर लतेा mम है

इनमg स ेकोई नहीं

Correct Answer :­परमहसं सम वा·काल मg सब सखु पाए 

10)

Question Stimulus :­

िनηिलεखत काҐाशं को Єानपवू└क पढ़कर उसके नीच ेिदय ेगय ेबîिवकώी ĸъ नो ंमg सही िवकώ का चयन
करg।

 

नीलाѕर पδरधान हδरत पट पर सुंदर है

सयू└ चĵं यगु­मकुुट,मखेला रΤाकार है

निदया ँĸमे­ĸवाह, फूल तारे मडंल हġ

बदंीजन खग­वृंद, शषेफन िसहंासन हġ

करत ेअिभषके पयोद हġ, बिलहारी इस वशे की

ह ेमातभृिूम! त ूसέ ही, सगणु मिूत└ सवĝश की;
िजसकी रज मg लोट­लोटकर बड़ ेîय ेहġ



िजसकी रज मg लोट­लोटकर बड़ ेîय ेहġ

घटुनो ंके बल सरक­सरककर खड़ ेîय ेहġ

परमहसं सम बा·काल मg सब सखु पाये

िजसके कारण ‘धलू भरे हीरे’ कहलाए

हम खले­ेकूंद ेहष└यतु, िजसकी Эारी गोद मg

ह ेमातभृिूम ! तझुको िनरख, मĬ sो ंन हो मोद मg

िनम└ल तरेा नीर अमतृ के सम उ̃म है

शीतल मदं सगुधं पवन हर लतेा mम है

षटऋ्तओु ंका िविवध ۴ъ य यतु अद्भुत ïम है

हδरयाली का फश└ नही ंमखमल स ेकम है

शिुच­सधुा सीचंता रात मg, तझु पर चĵंĸकाश है

ह ेमातभृिूम ! िदन मg तरिण, करता तम का नाश ह ै

 

किव अपन ेदशे पर sो ंबिलहारी जाता ह?ै

अनपुम, अतलुनीय सौदंय└ के कारण

हरीितमा भरे वातारण के कारण

निदयो ंव रΤाकार ¸ारा ĸदान की जान ेवाली अम·ू सपंदा के कारण

उपयőु सभी

Correct Answer :­उपयőु सभी 

11)

Question Stimulus :­

‘‘पौ बारह होना’’ महुावरे का अथ└ ह­ै

सकंट मg पड़ना

ावलबंी होनाתּ

खबू लाभ होना

भदे खोलना



Correct Answer :­खबू लाभ होना 

12)

Question Stimulus :­

‘‘िĸय वचन बोलना’’ के िलए महुावरा चिुनए­

फूलकर कुЪा होना

फावड़ा चलाना

फूल झड़ना

इनमg स ेकोई नहीं

Correct Answer :­फूल झड़ना 

13)

Question Stimulus :­

िनη िलεखत 6 वाsाशंो ंमg स ेĸथम व अिंतम िनिЖत हġ, शषे को उिचत ïम मg Ґवεэथत कीिजए।

(1) धम└ और

(य) उदारता के उŵ

(र) ही एक ऐसा िदҐ आनदं भरा रहता ह ैिक

(ल) कम╗ के िवधान मg

(व) कता└ को व ेकम└ ही

(6) फलּתiप लगत ेहġ।

य ल र व

र व ल य

व र य ल

य व ल र

Correct Answer :­य ल र व 

14)

Question Stimulus :­

िनη िलεखत 6 वाsाशंो ंमg स ेĸथम व अिंतम िनिЖत हġ, शषे को उिचत ïम मg Ґवεэथत कीिजए।

(1) जब तक



(य) और िनःसकंोच

(र) भगवान को िनडर

(ल) शरीर मg ĸाण है

(व) तब तक िनभ└य होकर

(6) मन स ेּפरण कर लो

य र ल व

ल व र य

व य ल र

य व ल र

Correct Answer :­ल व र य 

15)

Question Stimulus :­

‘‘िनМाम’’ शс द मg कौन­सा उपसग└ ह?ै

िन

नष

न

िनस्

Correct Answer :­िनस ्

16)

Question Stimulus :­

‘‘पतैकृ’’ शс द मg कौन­सा ĸέय ह?ै

क

अक

इक

δरक



Correct Answer :­इक 

17)

Question Stimulus :­

िनηिलεखत मg स ेउपसग└ रिहत शс द कौन­सा ह?ै

अिभलाषा

अनवुत└न

वदंनीय

अनग└ल

Correct Answer :­वदंनीय 

18)

Question Stimulus :­

‘‘िनМलकं’’ का सिंध िवẅदे होगा­

िनष + कलकं

िनः + कलकं

िनष ्+ कलकं

िन + कलकं

Correct Answer :­िनः + कलकं 

19)

Question Stimulus :­

िदय ेगय ेशс द के िलए वाsाशं चिुनए­

‘‘अडंज’’

अडंा बचेन ेवाला

अडंा खान ेवाला

अडं ेस ेउ̈Ό होन ेवाला

एक बीमारी का नाम



Correct Answer :­अडं ेस ेउ̈Ό होन ेवाला 

20)

Question Stimulus :­

िनη वाsाशं के िलए शс द चिुनए­

“बîत की कठोर और बड़ा आघात”

वĳाघात

वĳपात

वĳĸाणी

घायल

Correct Answer :­वĳाघात 

21)

Question Stimulus :­

‘‘अप└ण ’’शс द के सही िवलोम पद का चयन कीिजए­

ĸाεЧ

ीकृितתּ

याचना

ĭहण

Correct Answer :­ĭहण 

22)

Question Stimulus :­

‘‘हाथी’’ शс द का पया└यवाची नही ंह­ै

िवतु̂

कुंजर

सġधव

मतगं



Correct Answer :­सġधव 

23)

Question Stimulus :­

िनη पεंőयो ंमg कौन­सा छंद ह­ै

यो ंिकधर जा रह ेहġ िबखर, कुछ बनता इसस ेकिह ं।

सगंिठत एटमी iप धर, शεő पणू└ जीतो मही॥

कुˆिलया

रोला

उ׃ाला

हδरगीितका

Correct Answer :­उ׃ाला 

24)

Question Stimulus :­

िनηिलεखत मg स ेमािjक छंद कौन­सा ह?ै

दोहा

इĵंवĳा

घनाāरी

इनमg स ेकोई नहीं

Correct Answer :­दोहा 

25)

Question Stimulus :­

रसाचाय╗ के अनसुार эथाई भावो ंकी सही सġंा िकतनी हġ?

सात

आठ

नौ

दस



Correct Answer :­नौ 

26)

Question Stimulus :­

िनηिलεखत पεंőयो ंमg ĸयőु रस के सही भदे का चयन कीिजए­

अटपटी उलझी लताएँ

डािलयो ंको खीच लाएँ,

परै को पकड़ ेअचानक,

ĸाण को कस ल,े कंपाएँ

सापं­सी काली लताएँ

वीभγ

कiण

रौĵ

अद्भुत

Correct Answer :­वीभγ 

27)

Question Stimulus :­

िनη पεंőयो ंमg ĸुּסिटत होन ेवाल ेअलकंार का चयन कीिजए­

ǿो­ंǿो ंबढ़ू ेּקाम रंग, έौ­ंέौ ंउźवल होय

उΨāेा

िवरोधाभास

उपमा

यमक

Correct Answer :­िवरोधाभास 

28)

Question Stimulus :­

‘‘आखँ का अधंा, गाठँ का परूा’’ लोकोεő का अथ└ ह­ै

मखू└ िकंत ुधनी



एकदम मखू└

जो Ґεő अपना िहत अनिहत न समझे

इनमg स ेकोई नहीं

Correct Answer :­मखू└ िकंत ुधनी 

29)

Question Stimulus :­

‘‘तरुंत दान महा क·ाण’’ लोकोεő का अथ└ ह­ै

दान करन ेमg िवलѕ न ेकरg

दान के िलए िवचार­िवमश└ न करg

दान के िलए अपनी आय न दखेे

जो काय└ करना हो उस ेतरुंत कर डालना चािहए

Correct Answer :­जो काय└ करना हो उस ेतरुंत कर डालना चािहए 

30)

Question Stimulus :­

जहा ँउपमान के वण└न के माЄम स ेउपमये का वण└न हो, वहा ँकौन­सा अलकंार होता ह ै?

वïोεő

ľािंतमान

अितъ यो εő

अΎोεő

Correct Answer :­अΎोεő 

31)

Question Stimulus :­

‘‘जलावृ̃’’ मg समास ह­ै

कम└ त̈iुष

सबंधं त̈iुष



करण त̈iुष

इनमg स ेकोई नहीं

Correct Answer :­करण त̈iुष 

32)

Question Stimulus :­

‘‘िगδरधर’’ मg समास ह­ै

त̈iुष

कम└धारय

अҐयीभाव

बîĺीिह

Correct Answer :­बîĺीिह 

33)

Question Stimulus :­

‘शс द शεő’ के मलूतः िकतन ेभदे हġ?

दो

तीन

चार

पाचँ

Correct Answer :­तीन 

34)

Question Stimulus :­

iढ़, यौिगक और योग iढ़ शоो ंका अथ└ बोध िकस शс द शεő स ेहोता ह?ै

Ґजंना

लāणा

अिवधा



ता̈या└

Correct Answer :­अिवधा 

35)

Question Stimulus :­

‘Declaration’ शс द का िहदंी पया└य हġ­

Ύायालय

घोषणा

परामश└

िनदĝश

Correct Answer :­घोषणा 

36)

Question Stimulus :­

‘अिधिनयम’ शс द का अĭंजेी पया└य हġ­

Act

Accused

Appeal

Allegation

Correct Answer :­Act 

37)

Question Stimulus :­

िनη वाsाशं के эथान पर एक शс द का चयन कीिजए­

‘‘जो िकसी वशं मg बराबर चलता आया ह’ै’

आъ वЭ

उ̃रािधकारी

आनवुािंशक

इनमg स ेकोई नहीं



Correct Answer :­आनवुािंशक 

38)

Question Stimulus :­

‘आशकुिव’ शс द का भावाथ└ होगा­

आयोजन करन ेवाला Ґεő

जो आलोचना के योù हो

िकसी अविध स ेसबंधं रखन ेवाला

वह किव जो तΖाल किवता कर सकता है

Correct Answer :­वह किव जो तΖाल किवता कर सकता ह ै

39)

Question Stimulus :­

िनη पहलेी के सही उ̃र का चयन कीिजए­

“एक िचरैया ऐसी ह,ै बोल ेमधरुी वाणी।

बीच समΪुर डबुका मारे, ऊपर स ेमागँ ेपानी।।”

मढेक

मथानी

मछली

कछुआ

Correct Answer :­मथानी 

40)

Question Stimulus :­

िनη पहलेी के सही उ̃र का चयन कीिजए­

‘‘औधंा कुँआ िकलकारी मारै’’

भġस के गल ेमg बाधंन ेवाली घटंी

ओस

सप└ की कgचलुी



पकी îई गागर

Correct Answer :­भġस के गल ेमg बाधंन ेवाली घटंी 

41)

Question Stimulus :­

उνъे य और िवधये िकसके अगं हġ?

वाsाशं के

वाs के

रचना के

शс द के

Correct Answer :­वाs के 

42)

Question Stimulus :­

अशοु वाs का चयन कीिजए­

वह घोड़ ेपर सवार था

वह िवलाप करन ेलगा

उनका चδरj उ̃म है

इनमg स ेकोई नहीं

Correct Answer :­इनमg स ेकोई नही ं

43)

Question Stimulus :­

शοु वाs का चयन कीिजए­

बîत स ेलोग इस धारणा के होत ेहġ।

शj ुमदैान स ेभाग खड़ा îआ

उसन ेकहा था पर आपन ेनही ंसनुा

उपय└ुő सभी



Correct Answer :­उपय└ुő सभी 

44)

Question Stimulus :­

िनη ग̇ाशं का सāंपेण कीिजए­

‘‘मानव ससंार का सव└mПे जीव ह।ै बîत स ेधिनको ंके कु̃ ेभी असġं गरीबो ंस ेअẅा जीवन जीत ेहġ। Ґεő पशओु ंऔर पौधो ंपर
Эार लटुाता ह,ै उΨg सहजेता, पालता ह।ै यह बरुा नही,ं लिेकन मानव की उपāेा करके यह कोरी पाखˆता ह।ै

वह मनХु जो मानव स ेĸमे करता ह,ै उसके िलए सव└ּת अिप└त करन ेको उ̇त रहता ह।ै वह िकसी भी ĸमे स ेmПे ह।ै यिद मानव,
मानव स ेĸमे करन ेलग ेतो िनъ चय ही उसकी आवЇकताओ ंऔर दःुख­दद└ को अनभुव करेगा और समाज मg िकसी भी ĸकार की
समּקा नही ंरहगेी। वाЭव मg मानव का मानव के ĸित ĸमे ּתाथ└ स ेिवमखु होकर ही हो सकता ह।ै’’

पूंजी mम को बढ़ावा दतेी है

मानव ĸमे सबस ेबड़ा ĸमे

समाज मg पूंजी सचंय को ĸमखुता दी जाती है

इनमg स ेकोई नहीं

Correct Answer :­मानव ĸमे सबस ेबड़ा ĸमे 

45)

Question Stimulus :­

पjु के ¸ारा माता के िलए पj मg э विनदĝशन होगा­

िĸय पjु

सादर ĸणाम

आपका पjु

इनमg स ेकोई नहीं

Correct Answer :­आपका पjु 

46)

Question Stimulus :­

दो अपरिचतो ंके आपसी पj щ यवहार मg सबंोधन होगा­

िĸय िमj

महोदय

mοये महोदय



आदरणीय महोदय

Correct Answer :­महोदय 

47)

Question Stimulus :­

“कुħājे” रचना के रचनाकार का नाम चिुनए­

रामधारी िसहं िदनकर 

mीधर पाठक

महादवेी वमा└

इनमg स ेकोई नहीं

Correct Answer :­रामधारी िसहं िदनकर  

48)

Question Stimulus :­

िनу न मg स ेकौन सी रचना “रामधारी िसहं िदनकर” की ह?ै

धपू और धआुँ

सतू की माला

अगंारे

बढ़ूा चादँ

Correct Answer :­धपू और धआु ँ

49)

Question Stimulus :­

िनηिलεखत वाs मg कौन सा िवराम िचΨ छूटा ह?ै

काल└ माť└ न ेठीक ही तो कहा ह ैधम└ जनता के िलए नक└ कर दने ेवाली अफीम ह।ै

कोПक िचΨ

िवּפय िवराम िचΨ

अώ िवराम िचΨ

िनदĝशक िचΨ



Correct Answer :­िनदĝशक िचΨ 

50)

Question Stimulus :­

वाs मg जहा ँअο└ िवराम की अपāेा कम iकना पड़ता हो, वहा ँĸयőु होता ह­ै

पणू└ िवराम

अώ िवराम

उοरण िचֿכ

उő सभी

Correct Answer :­अώ िवराम 

51)

Question Stimulus :­

“अќ ध ेके हाथ बटरे लगना” महुावरे का सही अथ└ ह­ै

बटरे पāी को पकड़ना

बटरे पāी को आजाद करना

अयोѓ य щ यεő को अनायास अ㒘Ā छी वэ त ुĸाп त हो जाना

अќ ध ेको कुछ भी ĸाп त न होना

Correct Answer :­अयोѓ य щ यεő को अनायास अ㒘Ā छी वэ त ुĸाп त हो जाना 

52)

Question Stimulus :­

“कोयल ेकी दलाली मg मुँह काला” लोकोεő का सही अथ└ ह?ै

गĩे ँके साथ घनु तो िपसता ही है

बरुे काम का नतीजा बरुा होता है

बरुी सगंित मg कलकं लगता है

बरुे िवचार Ґεő को अपमािनत ही करात ेहġ

Correct Answer :­बरुी सगंित मg कलकं लगता ह ै

53)



53)

Question Stimulus :­

‘j’ वण└ िकन वण╗ के सहयोग स ेबना ह?ै

त + अ

त ्+ र

त + र्

j ्+ अ

Correct Answer :­त ्+ र 

54)

Question Stimulus :­

‘ड़’ और ‘ढ़’ को कहा जाता ह­ै

सजातीय वण└

िवजातीय वण└

िवकिसत वण└

इनमg स ेकोई नहीं

Correct Answer :­िवकिसत वण└ 

55)

Question Stimulus :­

वा㒘Ā य िकसके अनसुार बनता ह?ै

कता└ के

कम└ के

भाव के

उपरोő सभी के

Correct Answer :­उपरोő सभी के 

56)

Question Stimulus :­



िनη शо­यuु के िवकώो ंमg स ेसही अथ└­भदे का चयन कीिजए­

‘बदन­वदन’

बादल­चहेरा

शरीर­बदन

शरीर­चहेरा

दहे­दवे

Correct Answer :­शरीर­चहेरा 

57)

Question Stimulus :­

िनη शо यuु के िवकώो ंमg कोई एक िवकώ सही नही ंह।ै गलत यuु का चयन कीिजए­

शЮ­शाЮ

अЮ­शЮ

िसर­सीर

सनेा­सनैा

Correct Answer :­अЮ­शЮ 

58)

Question Stimulus :­

अЌ का पयाय└वाची नही ंह­ै

हय

वािज

तरुंग

कुश

Correct Answer :­कुश 

59)

Question Stimulus :­

िनη मg स ेकौन सा एक यuु िवपरीताथ└क नही ंह?ै



आэथा­अनाэथा

अथ└­अघ└

आय­Ґय

आय└­अनाय└

Correct Answer :­अथ└­अघ└ 

60)

Question Stimulus :­

तψव शо का चयन कीिजए­

वदेना

बरे

वन

वामन

Correct Answer :­बरे 

61)

Question Stimulus :­

“मġ महावीर ĩ ँपापड़ को तोड़ सकता ĩँ

गэु सा आ जाए तो, कागज मरोड़ सकता ĩ।ँ”

उपरोő पεंőया ँिकस रस का उदाहरण हġ­

वीर रस

शातं रस

हाэ य

इनमg स ेकोई नहीं

Correct Answer :­हाэ य 

62)

Question Stimulus :­

शс दालकंार के भदे हġ­



अनĸुास, यमक, उपमा

उपमा, यमक, ъ लषे

अनĸुास, ъ लषे, यमक

ъ लषे, यमक, ħपक

Correct Answer :­अनĸुास, ъ लषे, यमक 

63)

Question Stimulus :­

‘पिवj’ मg उपसग└ ह­ै

प

पव्

पिव

कोई उपसग└ नहीं

Correct Answer :­कोई उपसग└ नही ं

64)

Question Stimulus :­

‘वहृĵथ’ का सिंध िवẅदे होगा­

वहृ+ĵथ

ŀहद्+रथ

वहृत+्रथ

वहृद+रथ

Correct Answer :­वहृत+्रथ 

65)

Question Stimulus :­

‘कुमार’ को Юी वाचक बनान ेके िलय ेआप िकस ĸέय का ĸयोग करेगg?

आरी



ई

ईय

इन

Correct Answer :­ई 

66)

Question Stimulus :­

“तकु┬ अरबी िहदंवी भाषा जतेो आिह

जामg मारग ĸमे का सब ैसराह ैतािह ।”

भाषा के िबषय मg उő पεंőया ँिकसन ेकही?

अमीर खसुरो

मिलक मोहκद जायसी

जटमल

रसखान

Correct Answer :­रसखान 

67)

Question Stimulus :­

'पϊावत' नामक ĸिसο काҐ के रचनाकार का नाम sा ह?ै

िव̇ापित

नागज└ुन

मिलक मोहκद जायसी

िभखारी ठाकुर

Correct Answer :­मिलक मोहκद जायसी 

68)

Question Stimulus :­

आठवा ँिवЌ िहΪी सκलेन कहा ँआयोिजत िकया गया था?

Ύयूॉक└



नई िद׃ी

जापान

पारामाδरबो

Correct Answer :­Ύयूॉक└ 

69)

Question Stimulus :­

िनηिलεखत बोिलयो ंमg स ेकौन­सी बोली उ̃रĸदशे मg नही ंबोली जाती?

अवधी

ĺज

खड़ी बोली

मिैथली

Correct Answer :­मिैथली 

70)

Question Stimulus :­

ĸाचीन भारतीय िलिपयो ंमg ……… िलिप सव└mПे मानी जाती ह।ै

दवेनागरी

ĺाֿפी

रोमन

इनमg स ेकोई नहीं

Correct Answer :­ĺाֿפी 

Topic:­ General Knowledge 
1)

Question Stimulus :­

India’s first fighter aircraft is _______. / भारत का पहला लड़ाकू िवमान _______ ह।ै

Arjun / अज└ुन

Rudra / iĵ



Marut / माħत

Tejas / तजेस

Correct Answer :­Marut / माħत 

2)

Question Stimulus :­

Match the following and select the correct answer from the codes given below: / िनη को िमलाएं और नीचे
िदए गए कोडो ंमg स ेसही उ̃र का चयन करg:

   List­I                    List­II

1. Sikkim                    a. Agartala

2. Rajasthan                b. Bhubaneshwar

3. Odisha                    c. Jaipur

4. Tripura                   d. Gangtok

   सिूच­I                      सिूच­II

1. िसεóम                   a. अगरतला

2. राजэथान                  b. भवुनЌेर

3. ओिड़शा                    c. जयपरु

4. िjपरुा                      d. गगंटोक

1­d, 2­b, 3­c, 4­a

1­d, 2­c, 3­a, 4­b

1­c, 2­d, 3­b, 4­a

1­d, 2­c, 3­b, 4­a

Correct Answer :­1­d, 2­c, 3­b, 4­a 

3)

Question Stimulus :­

Which is the brightest planet?  / सबस ेĸकाशमय ĭह कौन सा ह?ै

Venus / शïु

Earth / पκृी



Mercury / बधु

None of the above / इनमg स ेकोई नहीं

Correct Answer :­Venus / शïु 

4)

Question Stimulus :­

Computers use the __________________ language to process data. / डटेा को ĸोससे करन ेके िलये
कंЭटूर________________ भाषा का इЭमेाल करता ह।ै

Processing / ससंाधन

Kilobyte / िकलोबाइट

Binary / बाइनरी

Presentation / ĸЭिुतकरण

Correct Answer :­Binary / बाइनरी 

5)

Question Stimulus :­

Which of the following is different from the remaining three ? / िनηिलεखत मg स ेकौन एक, शषे तीन स ेअलग
ह?ै

Haematite / हमेाटाइट

Magnetite / मĬैटेाइट

Limonite  / िलमोनाईट

Bauxite / बॉťाइट

Correct Answer :­Bauxite / बॉťाइट 

6)

Question Stimulus :­

___is a chemical reaction that releases energy by light or heat. / ____ एक रासायिनक ĸितिïया ह ैजो िक ĸकाश या
ऊь मा स ेऊजा└ िनम└ुő करती ह।ै

Exothermic reaction / उѴाāपेी ĸितिïया

Elimination Reaction / उΥलून ĸितिïया



Endothermic Reaction / ऊѴाशोषी ĸितिïया

Addition reaction / योग ĸितिïया

Correct Answer :­Exothermic reaction / उѴाāपेी ĸितिïया 

7)

Question Stimulus :­

Where is Ranakpur Jain Temple located / रणकपरु जनै मिंदर कहा ँεэथत है

Gujarat / गजुरात

Haryana / हδरयाणा

Kerala / केरल

Rajastan / राजэथान

Correct Answer :­Rajastan / राजэथान 

8)

Question Stimulus :­

In which among the following States, you will find Ganges River Dolphin? / िनηिलεखत राǿो ंमg स ेिकसमg, आपको
गगंा नदी डॉε΄न िमलगेी?

1. Assam / असम
2. Rajasthan / राजэथान
3. Jharkhand / झारखडं
4. Madhya Pradesh / मЄĸदशे

Select the correct option from the codes given below: / नीच ेिदए गए सकंेतो ंमg स ेसही िवकώ को चनुg:

1 and 2 / 1 एव ं2

1 and 3 / 1 एव ं3

1,3 and 4 / 1, 3 एव ं4

1,2,3 and 4 / 1, 2, 3 एव ं4

Correct Answer :­1,2,3 and 4 / 1, 2, 3 एव ं4 

9)

Question Stimulus :­



How many union territories are there in India? / भारत मg िकतन ेकेΚ शािसत ĸदशे हġ?

5

6

7

9

Correct Answer :­7 

10)

Question Stimulus :­

The newly formed 21st district of Haryana is ________/ हδरयाणा का नवगिठत 21वा ंिजला ह ै________

Mohali / मोहाली

Palwal / पलवल

Mewat / मवेात

None of these /  इनमg स ेकोई नहीं

Correct Answer :­Palwal / पलवल 

11)

Question Stimulus :­

What is the original name of the Golden Temple? / ּתण└ मिंदर का असली नाम sा ह?ै

Gurudwara Harmandir Sahib / गħु¸ारा हδरमिंदर सािहब

Amritsar Bridge Gate / अमδरतसर िĺज गटे

Gurudwara Bangla Sahib / गħु¸ारा बगंला सािहब

Golden Temple / ּתण└ मिंदर

Correct Answer :­Gurudwara Harmandir Sahib / गħु¸ारा हδरमिंदर सािहब 

12)

Question Stimulus :­

In which of the following states, the world famous “Khajuraho” sculptures are placed? / िनη मg स ेकौन स ेराǿ मg,
िवЌ ĸिसο "खजरुाहो" की मिूत└या ँरखी गई हġ?



Maharashtra / महाराЊ├

Uttar Pradesh / उ̃र ĸदशे

Rajasthan / राजэथान

Madhya Pradesh / मЄ ĸदशे

Correct Answer :­Madhya Pradesh / मЄ ĸदशे 

13)

Question Stimulus :­

Which among the following countries is not in the Asian continent? / इनमg स ेकौन सा दशे एिशयाई महा¸ीप मg
नही ंह?ै

Bhutan / भटूान

Romania / रोमिेनया

China / चीन

Singapore / िसगंापोर

Correct Answer :­Romania / रोमिेनया 

14)

Question Stimulus :­

The second largest island in the world is _________. / िवЌ का दूसरा सबस ेबड़ा ¸ीप  ह_ै________।

Borneo / बोिन└यो

Madagascar / मडेागाЧर

New Guinea / Ύ ूिगिनया

Greenland / ĭीनलġड

Correct Answer :­New Guinea / Ύ ूिगिनया 

15)

Question Stimulus :­

Which cricketer has bowled the most number of balls in Twenty20 internationals for India? / भारत के िलए
अΈराЊ├ीय ⅛gटी20 मg िकस िïकेटर न ेसबस ेअिधक बार गgद फgकी ह?ै



Harbhajan Singh / हरभजनिसहं

Sachin Tendulkar / सिचन तgदलुकर

Anil Kumble / अिनल कुंबले

Umesh Yadav / उमशे यादव

Correct Answer :­Harbhajan Singh / हरभजनिसहं 

16)

Question Stimulus :­

Where was the first modern Olympic Games held? / पहल ेआधिुनक ओिलεήक खलेो ंका आयोजन कहा ँîआ था?

Atlanta / एटलाटंा

Mexico /  मεेťको

Athens / एथसं

Sydney / िसडनी

Correct Answer :­Athens / एथसं 

17)

Question Stimulus :­

Dhyan chand was a famous______ / Єान चΪ एक ĸिसο______थे

Cricket player / िïकेट εखलाड़ी

Hockey player /  हॉकी εखलाड़ी

Tennis player / टिेनस εखलाड़ी

Kabaddi player /  कब`ी εखलाड़ी

Correct Answer :­Hockey player /  हॉकी εखलाड़ी 

18)

Question Stimulus :­

The 'Dronacharya Award' is given to_______. / 'ĵोणाचाय└ अवाड└' ________  को िदया जाता ह।ै

Sportsmen / εखलाड़ी



Coaches / कोच

Umpires / अपंायर

Sports Editors / खले सपंादक

Correct Answer :­Coaches / कोच 

19)

Question Stimulus :­

Who has been named in ICC’s newly appointed Anti­Corruption Oversight Group? / कौन आईसीसी के नविनयőु
ľЊाचार िनरोधक िनगरानी दल मg नािमत िकया गया ह?ै

Sunil Gavaskar / सनुील गावЧर

Sachin Tendulkar / सिचन तgदलुकर

Rahul Dravid / राîल ĵिवड़

Ravi Shastri / रिव शाЮी

Correct Answer :­Rahul Dravid / राîल ĵिवड़ 

20)

Question Stimulus :­

Which among the following is NOT a social networking website? / िनη मg स ेकौन सी सोशल नटेविक┤ग वबेसाइट
नही ंह?ै

Linked In / िल۵ंडइन

Facebook / फ़ेसबकु

Wikipedia / वीिकपीडीया

All of the above / उपय└ुő सभी

Correct Answer :­Wikipedia / वीिकपीडीया 

21)

Question Stimulus :­

Which Indian state has the highest per capita income / िकस भारतीय राǿ की ĸित Ґεő आय सबस ेअिधक है

Delhi / िद׃ी



Goa / गोवा

Sikkim / िसεóम

Haryana / हδरयाणा

Correct Answer :­Goa / गोवा 

22)

Question Stimulus :­

According to the Income Tax Act, which of the following age slap will applicable for “Super Senior
Citizen”? / आयकर अिधिनयम के अनसुार, िनηिलεखत मg स ेकौन­सा आय ुवग└ “सपुर वδरП नागδरक” के िलए उपयőु
ह?ै

50 above / 50 के ऊपर

60 above / 60 के ऊपर

80 above / 80 के ऊपर

Between 60 to 80 / 60 स े80 के बीच

Correct Answer :­80 above / 80 के ऊपर 

23)

Question Stimulus :­

Deepest mine in India is located at ___./  भारत की सबस ेगहरी खदान __मg εэथत ह।ै

Anantpur /  अनतंपरु

Bellary /  बे׃ारी

Kolar /  कोलार

Hospet /  होसपटे

Correct Answer :­Kolar /  कोलार 

24)

Question Stimulus :­

“The God of Small Things” was written by / ‘द गॉड ऑफ़ ּפाल िथüं’ इनके ¸ारा िलखा गया था:

Jhumpa Lahiri  /  झήुा लािहड़ी



Munshi Premchand  /  मुंशी ĸमेचΪ

R K Narayan  /  आर के नारायण

Arundhati Roy  /  अħंधती रॉय

Correct Answer :­Arundhati Roy  /  अħंधती रॉय 

25)

Question Stimulus :­

After which famous person is the S.S.P.N. railway station at Puttaparthi named? / पु̃ापथ┬ मg एस.एस.पी.एन रेलवे
Ьशेन का नाम िकस ĸिसο Ґεő के नाम पर ह?ै

Sri Aurobindo /  mी अरिवΪ

Indira Gandhi /  इिंदरा गाधँी

M.S. Dhoni / एम. एस. धोनी

Sathya Sai Baba /  सέ साई ंबाबा

Correct Answer :­Sathya Sai Baba /  सέ साई ंबाबा 

26)

Question Stimulus :­

Find the odd one out / िवषम का चनुाव कδरये

Uma Bharti / उमा भारती

Sushma Swaraj / सशुमा ּתराज

V. N. Janaki / वी.एन. जानकी

Sumitra Mahajan / सिुमjा महाजन

Correct Answer :­V. N. Janaki / वी.एन. जानकी 

27)

Question Stimulus :­

Who is the longest serving non­royal head of state in the world? / िवЌ मg सबस ेलबं ेसमय तक सवेारत राǿ का गरै
शाही ĸमखु कौन ह?ै

Raul Castro / राउल काЮो



Ayatollah Khomeini / अयातु׃ा खोमनैी

Hun Sen /  îन सने

Paul Biya  /  पॉल िबया

Correct Answer :­Paul Biya  /  पॉल िबया 

28)

Question Stimulus :­

Which band is credited with the legendary song “Hotel California”? / िकस बġड को महान गीत ‘होटल कैिलफोिन└या’
का mये िदया जाता ह?ै

Avenge Sevenfold / एवgज सवेनफोϋ

The Beatles /  द बीटА

The Eagles /  द ईगА

Metallica /  मटेािलका

Correct Answer :­The Eagles /  द ईगА 

29)

Question Stimulus :­

Who among the following was the 40th Vice President of the United States of America? / िनη मg स ेकौन सयंőु

राǿ अमरीका के 40वg उपराЊ├पित थ?े

Dan Quayle /  डनै šेल

Ronald Wilson Reagan /  रोनाϋ िवАन रीगन

John Fitzgerald Kennedy / जॉन िफ़टज्गरेाϋ केनडेी

Richard Nixon / δरचड└ िनťन

Correct Answer :­Ronald Wilson Reagan /  रोनाϋ िवАन रीगन 

30)

Question Stimulus :­

Which city is called Pink city of India? / िकस शहर को भारत का गलुाबी शहर कहा जाता ह?ै

Bangalore / बġगलोर



Mumbai / मुंबई

Delhi / िद׃ी

Jaipur / जयपरु

Correct Answer :­Jaipur / जयपरु 

31)

Question Stimulus :­

Which of the following states is NOT on the border of West Bengal? / िनη मg स ेकौन सा राǿ पिЖम
बगंाल की सीमा पर नही ंह?ै

Tripura / िjपरुा

Odisha / ओड़ीशा

Jharkhand / झारखˆ

None of these / इनमg स ेकोई नहीं

Correct Answer :­Tripura / िjपरुा 

32)

Question Stimulus :­

Nagarjunasagar tiger reserve is in which state? / नागाज└ुनसागर बाघ अभयारΔ िकस राǿ मg ह?ै

Karnataka / कना└टक

Andhra Pradesh / आkंĸदशे

Tamil Nadu / तिमलनाडु

Kerala / केरल

Correct Answer :­Andhra Pradesh / आkंĸदशे 

33)

Question Stimulus :­

Which of the following states has the largest representation in the Lok Sabha? / िनη राǿो ंमg स ेिकसका
लोक सभा मg सबस ेबड़ा ĸितिनिध̆ ह?ै

Karnataka / कना└टक



Andra Pradesh / आkं ĸदशे

Uttar Pradesh / उ̃र ĸदशे

Rajastan / राजэथान

Correct Answer :­Uttar Pradesh / उ̃र ĸदशे 

34)

Question Stimulus :­

Who has been the longest­serving woman Chief Minister in India? /  भारत मg सबस ेलѕ ेसमय तक
मġुमjंी रहन ेवाली मिहला कौन हġ?

J. Jayalalithaa /  ज.े जयलिलता

Mamata Banerjee /  ममता बनज┬

Sheila Dikshit /  शीला दीिāत

Mayawati /  मायावती

Correct Answer :­Sheila Dikshit /  शीला दीिāत 

35)

Question Stimulus :­

Which of these landmarks was designed by the fifth Sikh Guru, Guru Arjan Sahib? / िनηिलεखत मg स ेकौन सा эथल
िसôो ंके पाचंवg गħु, गħु अज└न सािहब ¸ारा िडज़ाइन िकया गया था?

Lotus Temple  /  कमल मिंदर

Golden Temple  /  ּתण└ मिंदर

Meenakshi Temple  /  िमनाāी मिंदर

Sun Temple  /  सयू└ मिंदर

Correct Answer :­Golden Temple  /  ּתण└ मिंदर 

36)

Question Stimulus :­

Who among the following has written the famous book ‘Geet Govind’ / िनη मg स ेिकसन ेĸिसο पЭुक ‘गीत गोिवदं’
िलखी ह?ै

Guru Govind / गiु गोिवदं



Kalidas / कािलदास

Jayadev / जयदवे

Panpa / पनपा

Correct Answer :­Jayadev / जयदवे 

37)

Question Stimulus :­

Tansen lived in the court of __________ / तानसने ____________ के दरबार मg रहत ेथे

Adil Shah / आिदल शाह

Ashoka / अशोक

Akbar / अकबर

Bahadur Shah Zafar / बहादरु शाह ज़फर

Correct Answer :­Akbar / अकबर 

38)

Question Stimulus :­

Krona is the currency of which of the following country? / ïोना िनη मg स ेकौन स ेदशे की मĵुा ह?ै

Spain / ּמने

Australia / ऑЬिेलया

Sweden / ּתीडन

France / lासं

Correct Answer :­Sweden / ּתीडन 

39)

Question Stimulus :­

The city “Peshawar” is in which among the following country? / “पशेावर” शहर िनηिलεखत मg स ेिकस
दशे मg ह?ै

India / भारत

Pakistan / पािकЭान



Sri Lanka / mीलकंा

China / चीन

Correct Answer :­Pakistan / पािकЭान 

40)

Question Stimulus :­

What is the color of the wheel (Chakra) in the Indian Nation Flag? / भारतीय राЊ├ीय झडं ेके चï का रंग
sा ह?ै

Dark Black / गहरा काला

Dark Green /  गहरा हरा

Blue and Black / नीला और काला

Navy Blue / गहरा नीला

Correct Answer :­Navy Blue / गहरा नीला 

41)

Question Stimulus :­

With which field was Pandit Bhimsen Joshi associated? / पिंडत भीमसने जोशी िकस ājे स ेसबंिंधत थ?े

Sports / खले

Politics / राजनीित

Music / सगंीत

Business / Ґापार

Correct Answer :­Music / सगंीत 

42)

Question Stimulus :­

On hearing about whose death did Ravi Shankar compose Farewell, My Friend? /  िकसके
िनधन की खबर सनुकर रिवशकंर न े'अलिवदा, मरेे दोэ त' गीत िलखा था?

Mahatma Gandhi /  महाΫा गाधँी

Lady Diana /  लडेी डायना



Satyajit Ray / सέिजत राय

John F. Kennedy /  जॉन एफ़ कैनडेी

Correct Answer :­Satyajit Ray / सέिजत राय 

43)

Question Stimulus :­

When is Nelson Mandela International Day celebrated? / नАेन मडंलेा अतंरा└Њ├ीय िदवस कब मनाया जाता ह?ै

10th August / 10 अगЭ

18th July / 18 जलुाई

30th May / 30 मई

23rd October  / 23 अōूबर

Correct Answer :­18th July / 18 जलुाई 

44)

Question Stimulus :­

‘National Youth Day’ is observed on 12th January to mark the birth anniversary of ____. / ‘राЊ├ीय यवुा िदवस’ 12 जनवरी
को ____ की जयतंी के उपलſ मg मनाया जाता ह।ै

Bhagat Singh / भगत िसहं

Rajiv Gandhi / राजीव गाधंी

Dhayanchand / Єानचदं

Swami Vivekananda  / ּתामी िववकेानदं

Correct Answer :­Swami Vivekananda  / ּתामी िववकेानदं 

45)

Question Stimulus :­

The Special Marriage Act was passed in / िवशषे िववाह अिधनयम िकस वष└ मg पाδरत îआ था

1859

1954

1892



1961

Correct Answer :­1954 

46)

Question Stimulus :­

When is the ‘World Radio Day’ observed? / ‘िवЌ रेिडयो िदवस’  कब मनाया जाता ह?ै

13th February  /  13 फरवरी

10th  March  /  10 माच└

24th October  /  24 अōूबर

6th July / 6 जलुाई

Correct Answer :­13th February  /  13 फरवरी 

47)

Question Stimulus :­

Madhya Pradesh has rocky terrain which is more suited for / मЄ ĸदशे मg च‛ानी इलाका ह ैजो इसके िलए उपयőु
ह।ै

Tank Irrigation  / टġक िसचंाई

Canal Irrigation  / नहर िसचंाई

Well Irrigation  / कुआ ँिसचंाई

Tubewell Irrigation  / नलकूप िसचंाई

Correct Answer :­Tank Irrigation  / टġक िसचंाई 

48)

Question Stimulus :­

Which of the following is NOT a natural region of Madhya Pradesh? / िनη मg स ेकौन सा मЄ ĸदशे का ĸाकृितक
ājे नही ंह?ै

The Plateau of Central India  /  मЄ भारत का पठार

The Western Plateau  /  पिЖमी पठार

The Satpura and Maikal Region  /  सतपड़ुा और मकैाल ājे



The Narmada­Sone Valley  /  नम└दा­सोन घाटी

Correct Answer :­The Western Plateau  /  पिЖमी पठार 

49)

Question Stimulus :­

The Sanctuary in Madhya Pradesh but which is adjoining Rajasthan is____ Sanctuary. / एक
अभयारΔ जो मЄ ĸदशे मg ह,ै  लिेकन राजэथान स ेसटा ह ै___।

Satpura / सतपड़ुा

Gandhi Sagar / गाधंी सागर

Bori / बोरी

Sanjay Dubri / सजंय डबरी

Correct Answer :­Gandhi Sagar / गाधंी सागर 

50)

Question Stimulus :­

The most popular singer born in Indore is / इदंौर मg पदैा îए सबस ेलोकिĸय गायक हġ

Kishore Kumar /  िकशोर कुमार

Lata  Mangeshkar /  लता मगंशेकर

Jyoti Roa Misra /  ǿोित राव िमmा

Puneet Shrama /  पनुीत शमा└

Correct Answer :­Lata  Mangeshkar /  लता मगंशेकर 

51)

Question Stimulus :­

Which of the following is the standard form of 0.00025? / िनη मg स े0.00025 का मानक iप कौन सा ह?ै

 2.5 ×10­3

 2.5 ×103

 2.5 ×104

 2.5×10­4



Correct Answer :­ 2.5×10­4 

52)

Question Stimulus :­

The value of 7985 × 107 ­  7985 × 7 =  _______. /   7985 × 107 ­  7985 × 7 का मान = 
______

749

­7985000

798500

100

Correct Answer :­798500 

53)

Question Stimulus :­

The constant term in the algebraic expression,5p +3pq +7r ­ 5/9 / बीज गणीतीय अिभҐजंना 5p +3pq +7r ­ 5/9 मg
эथायी पद है

5/9

5

3

­5/9

Correct Answer :­­5/9 

54)

Question Stimulus :­

The mean of certain set of data is 40. Find the new mean of the resulting numbers when increased by 9 and divided
by7. / िकसी डाटा के िनिЖत सटे का माЄ 40 ह।ै पδरणािमत सġंाओ ंका नया माЄ िनकािलए जब 9 स ेबढ़ाया जाय ेऔर
7 स ेिवभािजत िकया जाय।े

49

 7

9



40

Correct Answer :­ 7 

55)

Question Stimulus :­

The mean of certain set of data is 30. Find the new mean of the resulting numbers when increased by 5 and
divided by 5. / डाटा के िकसी िनिЖत सटे का माЄ 30 ह।ै पδरणामी सġंाओ ंका नया माЄ िनकािलय ेजब 5 से
विध└त और 5 स ेिवभािजत िकया जाता ह।ै

35

10

7

36

Correct Answer :­7 

56)

Question Stimulus :­

The base of the parallelogram is thrice its height. If the area is 192 cm2, then the base and height of the
parallelogram is ________ and _______ respectively. / समानातंर चतभु└ुज का आधार उसकी ऊँचाई स ेितगनुा ह।ै यिद
ājेफल 192 समेी वग└ ह,ै तो समानातंर चतभु└ुज का आधार और ऊँचाई ïमश: ________और_______हġ

24 cm,     8 cm / 24 समेी, 8 समेी

21 cm,     7 cm / 21 समेी, 7 समेी

18 cm,     6 cm / 18 समेी, 6 समेी

27 cm,     9 cm / 27 समेी, 9 समेी

Correct Answer :­24 cm,     8 cm / 24 समेी, 8 समेी 

57)

Question Stimulus :­

Two houses with one side common wall are to be fenced.  The cost of fencing is Rs.22.40
per metre.  _________________ is the cost of fencing both houses. / एक तरफ सामाΎ दीवार
वाल ेदो घरो ंमg घरेा लगाना ह।ै घरेा लगान ेकी कीमत i22.40 ĸित मीटर ह।ै दो घरो ंको घरेे स ेघरेन ेकी
कीमत____________है



Rs.3390.60 / i 3390.60

Rs.3087.30 / i 3087.30

Rs.3248.00 / i 3248.00

Rs.3302.40 / i 3302.40

Correct Answer :­Rs.3248.00 / i 3248.00 

58)

Question Stimulus :­

An apartment casts a shadow of length 654 m long and at the same time a tree standing in front of it casts a shadow of
length 6 meters. If the tree is 2 m of height, what is the height of the apartment? / एक अपाट└मgट 654 मी लѕी
परछाई डालती ह ैऔर उसी समय उसके सामन ेखड़ा एक पड़े 6 मी लѕी परछाई डालता ह।ै यिद पड़े 2 मी ऊचाईँ का ह,ै तो
अपाट└मgट की ऊचाईँ sा ह?ै

327m / 327 मी

109m / 109 मी

1308m / 1308 मी

218 m / 218 मी

Correct Answer :­218 m / 218 मी 

59)

Question Stimulus :­

Complete the table of values for the following equation. X = y ­5 / िनη समीकरण के िलय ेमान का टबेल परूा
कीिजय:े X = y ­5



2,4, 5

­3, ­6 ­5

4, ­2, 5

1, 4,5

Correct Answer :­2,4, 5 

60)

Question Stimulus :­

A ___________ is a bar graph that shows data in intervals. / ____________ एक दडं ĭाफ ह ैजो अतंराल मg
डाटा ĸЭतु करता है

Histogram / आयतिचj

Bar graph / दडं ĭाफ

Line graph / रेखा ĭाफ

Linear graph / रैεखक ĭाफ

Correct Answer :­Histogram / आयतिचj 

61)

Question Stimulus :­

The first Indian Satellite launched from the Indian soil / भारतीय भिूम स ेĸāिेपत ĸथम भारतीय उपĭह
है

Aryabhatta  /  आय└भ‛

Bhaskara 1 /  भाЧर 1

Rohini  /  रोिहणी

INSAT 1 A  /  इनसटै 1 ए

Correct Answer :­Rohini  /  रोिहणी 

62)

Question Stimulus :­

The number of atoms of elements M,S,O and H  in the salt with formula M2(SO4)3.6H2O
are, / लवण िजसका सjू M2(SO4)3.6H2O ह ैउसमg,  त̆ M,S, O और H  के परमाणओु ंकी सġंाएं हġ



2,1,12 ,6

2,3,12,12

2,3,12,18

2,3,18,12

Correct Answer :­2,3,18,12 

63)

Question Stimulus :­

Figure shows the positions of an object AB, an optical device M and the image A’B’ of the
object formed by M.  The device M is a / नीच ेदी गयी आकृित िदखाती ह ैएक वЭ ुAB की εэथित, एक
ऑिΏकल िडवाइस M और M  के ¸ारा बनाया गया वЭ ुका ĸितिबबं A'B । िडवाइस M है

convex mirror / उ̃ल दप└ण

concave mirror / अवतल दप└ण

plane mirror / समतल दप└ण

convex lens / उ̃ल लgस

Correct Answer :­concave mirror / अवतल दप└ण 

64)

Question Stimulus :­

An electric circuit is made using a torch cell, a bulb and copper wires. The bulb does not glow. The reason may be / एक
िवद्युत­्पδरपथ, एक टॉच└ सले, एक बֿ और कॉपर की तारो ंका ĸयोग करके बनाया गया ह।ै बֿ जलता नही ंह।ै
कारण हो सकता है

the copper wires have more length than what is required / कॉपर के तारो ंकी लѕाई आवЇकता स ेǿादा है

the torch cell is connected with its polarity reversed / टॉच└ सले को  उसकी kवुणता स ेउѝ ïिमत
करके जोड़ा जाता है



the torch cell is touched by the hand / टॉच└ सले को हाथ स ेּמश└ िकया जाता है

the copper wire does not touch the cell / कॉपर की तार सले को ּמश└ नही ंकरती

Correct Answer :­the copper wire does not touch the cell / कॉपर की तार सले को ּמश└ नही ंकरती 

65)

Question Stimulus :­

The  gem that is known as Panna Gemstone / वह रΤ जो पΌा रΤ के नाम स ेजाना जाता है

Topaz / पखुराज

Ruby / मािणs

Emerald / मरकत

Diamond / हीरा

Correct Answer :­Emerald / मरकत 

66)

Question Stimulus :­

Which among the following is not a chemical change / िनη मg स ेकौन रासायिनक पδरवत└न नही ंहै

Fermentaĕon / िकˇन

Combusĕon / दहन

Corrosion / सāंारण

Condensaĕon / सघंनन

Correct Answer :­Condensaĕon / सघंनन 

67)

Question Stimulus :­

Which one of the following consĕtuent of Petroleum is used as solvent for dry cleaning? / पटे├ोिलयम के िनу न मg से
िकस घटक का उपयोग ड├ाई ۵ लीिनगं हते ुिवलायक के iप मg िकया जाता ह?ै

Kerosene / केरोिसन

Diesel / डीजल

Lubricaĕng oil / लिुĺकgट ऑयल



Petrol / पटे├ोल

Correct Answer :­Petrol / पटे├ोल 

68)

Question Stimulus :­

The component  of the gastric juice that destroys the bacteria in the food we take
is __________ / आमाशय रस का वह घटक जो हमारे ¸ारा ĭहण िकय ेगय ेभोजन मg उपεэथत बōैीδरया को नЊ करता
है

Hydrochloric acid / हाइड├ोśोδरक अμ

Pepsin / पεेбन

Renin  / रेिनन

Lipase  / लाइĸसे

Correct Answer :­Hydrochloric acid / हाइड├ोśोδरक अμ 

69)

Question Stimulus :­

What is a Plasmid? / Юाεּפड sा ह?ै

Extra nuclear DNA in bacteria / जीवाण ुमg अितδरő नािभक डीएनए

A pathogenic virus / एक रोगजनक िवषाणु

Bacteria / जीवाणु

Extra nuclear DNA in eukaryotes / सकुेεΚक मg अितδरő नािभक डीएनए

Correct Answer :­Extra nuclear DNA in eukaryotes / सकुेεΚक मg अितδरő नािभक डीएनए 

70)

Question Stimulus :­

Which of the following is a monocot plant? / िनη मg स ेकौन एकबीजपjी पौधा ह?ै

Paddy  /  धान

Grapes  /  अगंरू

Mango /  आम



Apple /  सबे

Correct Answer :­Paddy  /  धान 

71)

Question Stimulus :­

If 56 workers can construct a building within 45 days, how many days will it take for 30
workers? / यिद 56 मजदूर 45 िदनो ंमg एक भवन का िनमा└ण कर सकत ेहġ, तो 30 मजदूरो ंको यह करन ेमg िकतन ेिदन
लगgग?े

74

54

80

84

Correct Answer :­84 

72)

Question Stimulus :­

If   and the sum of x, y and z is 568. Find the value of z. / यिद   एव ंx, y
एव ंz का योग 568 ह।ै z का मान ŵात करg।

180

178

168

None

Correct Answer :­168 

73)

Question Stimulus :­

The average of first nine multiples of 15 is :/ 15 के पहल ेनौ गणुको ंका औसत औसत ह_ै_________

45

60



75

90

Correct Answer :­75 

74)

Question Stimulus :­

A is two years older than B who is twice as old as C. If the total of the ages of A, B and C be 27, the how old is B?/
B स ेA दो साल बड़ा ह ैऔर B की आय ुC की आय ुकी दोगनुी ह।ै यिद A, B और C की आय ुका योग 27 ह,ै तो B की आयु
िकतनी ह?ै

7

8

9

10

Correct Answer :­10 

75)

Question Stimulus :­

8/7th  of 56 is / 56 का 8/7वा ँह:ै

36

52

72

64

Correct Answer :­64 

76)

Question Stimulus :­

(11/6) of 48 is how much greater than Four Fifth of 50? / 48 का (11/6), 50 के चार पाचँवg स ेिकतना बड़ा ह?ै

38

40



50

48

Correct Answer :­48 

77)

Question Stimulus :­

A certain recruitment examination has three sections viz., Analytical (40 marks), Logical (50 marks) and
Numerical (60 marks). Only the candidates scoring a total of above 80% are short­listed. Sheela got 35 marks in
the Analytical section and 60% marks in the Logical section. State the minimum score that she has to obtain in the
Numerical section to appear in the short­list? / एक िनिЖत भत┬ परीāा मg तीन वग└ अथा└त, िवКषेणाΫक (40
अकं), तािक└क (50 अकं) एव ंसġंाΫक (60 अकं) हġ। माj वसै ेउκीदवार िजΨोन ेकुल 80% के ऊपर ĸाЧ िकया
ह,ै उΨी ंका अώसचूीकरण îआ हġ। शीला न ेिवКषेणाΫक खडं मg 35 अकं एव ंतािक└क खडं मg 60% अकं ĸाЧ
िकया ह।ै वह Ύनूतम अकं ŵात करg, जो उस ेअώसचूी मg ĸकट होन ेके िलए सġंाΫक खडं मg ĸाЧ करन ेहġ।

40

45

50

55

Correct Answer :­55 

78)

Question Stimulus :­

Fill in the missing alphabets / लЧु अāर भδरए

ba__b__a__a__

a, a, a, b

b, a, a, a

a, b, a, a

a, a, b, a

Correct Answer :­a, a, b, a 

79)

Question Stimulus :­

11% of 400 is / 400 का 11% ह:ै



54

68

30

44

Correct Answer :­44 

80)

Question Stimulus :­

Three persons are walking from A to B. Their speeds are in the ratio of 4 : 3 : 5. The time ratio to reach B will
be: / A स ेB तक तीन Ґεő चल रह ेहġ। उनकी गित का अनपुात 4: 3: 5 ह।ै B तक पîचँन ेका समय का अनपुात होगा

4 : 3 : 5

5 : 3 : 4

15 : 9 : 20

15 : 20 : 12

Correct Answer :­15 : 20 : 12 

81)

Question Stimulus :­

Which one of the following four addresses is NOT EXACTLY the same as the one
given below? / िनη चार पतो ंमg स ेकौन सा नीच ेिदय ेगय ेपत ेके एकदम समान नही ंह?ै

Beyond Limits Adventures, Inc.

E­Mail: bla@rivertrip.com

P.O. Box 215

Riverbank, California 95367

(209) 869­6060

(800) 234­RAFT (7238)

Fax: (209) 869­4730

 

(i)     Beyond Limits Adventures, Inc.



E­Mail: bla@rivertrip.com

P.O. Box 215

Riverbank, California 95367

(209) 869­6060

(800) 234­RAFT (7238)

Fax: (209) 869­4730

 

(ii)    Beyond Limits Adventures, Inc.

E­Mail: bla@rivertrip.com

P.O. Box 215

Riverbank, California 95367

(209) 869­6060

(800) 234­RAFT (7238)

Fax: (209) 869­4730

 

(iii)   Beyond Limits Adventures, Inc.

E­Mail: bla@rivertrip.com

P.O. Box 215

Riverbank, California 95367

(209) 869­6060

(800) 234­RAFT (7238)

Fax: (209) 869­4730

 

(iv)   Beyond Limits Adventures, Inc.

E­Mail: bla@rivertirp.com

P.O. Box 215

Riverbank, California 95367

(209) 869­6060



(800) 234­RAFT (7238)

           Fax: (209) 869­4730

i

ii

iii

iv

Correct Answer :­iv 

82)

Question Stimulus :­

Which one of the following four addresses is NOT EXACTLY the same as the one
given below? / िनη चार पतो ंमg स ेकौन सा एक नीच ेिदय ेगय ेपत ेके एकदम समान नही ंह?ै

 

Ottawa Whitewater Rafting, Ltd.

P.O. Box 179

Beachburg, Ontario KOJ 1CO

(800) 267­8505

(613) 582­3351

 

(i)         Ottawa Whitewater Rafting, Ltd.

            P.O. Box 179

            Beachburg, Ontario KOJ 1CO

            (800) 267­8505

            (613) 582­3351

 

(ii)        Ottawa Whitewater Rafting, Ltd.

            P.O. Box 179

            Beanchburg, Ontario KOJ 1CO



            (800) 267­8505

            (613) 582­3351

 

(iii)       Ottawa Whitewater Rafting, Ltd.

            P.O. Box 179

            Beachburg, Ontario KOJ 1CO

            (800) 267­8505

            (613) 582­3351

 

(iv)       Ottawa Whitewater Rafting, Ltd.

            P.O. Box 179

            Beachburg, Ontario KOJ 1CO

            (800) 267­8505

            (613) 582­3351

i

ii

iii

iv

Correct Answer :­ii 

83)

Question Stimulus :­

A shop keeper sold a bicycle for Rs.1050 gain at 5% profit .What is his cost price? / एक दकुानदार न ेएक साईकल
5 % लाभ के साथ iपय े1050 मg बचेी। उसका ïय म·ू िकतना ह?ै

1030

1020

1010

1000



Correct Answer :­1000 

84)

Question Stimulus :­

Find the next term in the series 5,12,26,47, ________ /mखंला मg अगला पद ŵात कीिजए 5,12,26,47,_______

72

75

77

79

Correct Answer :­75 

85)

Question Stimulus :­

Find out the wrong term / गलत पद ŵात कीिजए

49,48,45,42,33,24,13

48

45

42

33

Correct Answer :­42 

86)

Question Stimulus :­

Question is based on an encryption system in which: / ĸЍ एक एεќïपशन ĸणाली पर आधाδरत है
िजसमg:

 (1) ‘La Pit Ta’ means ‘Mango is sweet’ / ‘La Pit Ta’ का मतलब ह ै‘Mango is sweet’

(2) ‘Na Sa Pit’ means ‘Mango and Banana’  / ‘Na Sa Pit’ का मतलब ह ै‘Mango and Banana’  

(3) ‘Ba Ta Tik’ means ‘Boy is Wise’.  / ‘Ba Ta Tik’ का मतलब ह ै‘Boy is Wise’

In this encryption system, what does ‘Sweet’ means? / इस एεќïपशन ĸणाली मg, ‘Sweet’ का sा
मतलब ह?ै



La

Pit

Sa

Ba

Correct Answer :­La 

87)

Question Stimulus :­

In the sequence shown below, which figure comes next? / नीच ेिदखाय ेगय ेïम मg अगली आकृित कौन सी होगी?



Correct Answer :­  

88)

Question Stimulus :­

Six children are playing in a garden. U is the sister of T. R is the only son of P's

uncle. Q and S are the daughters of the brothers of R's father. P and T are

brothers. All the children are related to each other. / छ्ह बŵ ेएक मदैान मg खले

रह ेहġ। U, T की बहन ह।ै R, P के चाचा का इकलौता बटेा ह।ै Q और S, R के िपता की

भाइयो ंकी बिेटया ँहġ। P और T भाई हġ। सभी बŵ ेएक दूसरे स ेसबंिंधत हġ।

How is R related to U? / R, U स ेकैस ेसबंिंधत ह?ै

Brother / भाई

Son / बटेा

Sister / बहन

Cousin / चचरेा भाई

Correct Answer :­Cousin / चचरेा भाई 

89)

Question Stimulus :­

M + N means M is the husband of N / M + N का मतलब ह ैM, N का पित है

M ­ N means M is the father of N / M ­ N का मतलब ह ैM, N के िपता हġ

M ! N means M is the brother of N / M ! N का मतलब ह ैM, N का भाई है

M X N means M is the sister of N / M X N का मतलब ह ैM, N की बहन है

M = N means M is the wife of N / M = N का मतलब ह ैM, N की पΤी है



M @ N means M is the mother of N / M @ N का मतलब ह ैM, N की माता है

A ! B @ C +D @ E =F then which of the following must be true? / A ! B @ C +D @ E =F तो िनη
मg स ेकौन सा सέ होना चािहए?

Gender of F is not known. / F का िलगं ŵात नही ंह।ै

E, D & A are males. / E, D और A पħुष हġ।

B, D & E are females. / B, D और E Юी हġ।

B is grandfather of F. / B, F के दादा हġ।

Correct Answer :­B, D & E are females. / B, D और E Юी हġ। 

90)

Question Stimulus :­

A + B means A is B’s daughter. /  A + B का मतलब ह ैA, B की बटेी ह।ै

A x B means A is B’s son. / A x B का मतलब ह ैA, B का बटेा ह।ै

A ­ B means A is B’s wife. / A ­ B का मतलब ह ैA, B की पΤी ह।ै

If P + Q + R, which of the following is TRUE? P is _______of R. / यिद P + Q + R, तो िनη मg से
कौन सा सέ ह?ै P, R की _______ह।ै

Granddaughter / पोती

 Grandmother / दादी

Grandfather / दादा

Grandson / पोता

Correct Answer :­Granddaughter / पोती 

91)

Question Stimulus :­

Which of the following is the mirror image of FATHER? / िनη मg स ेकौन सा FATHER का दप└ण ĸितिबѕ ह?ै



Correct Answer :­  

92)

Question Stimulus :­

In the following question the first word has certain relationship with the second word. If
the third word has to have the similar relationship with the fourth word, the fourth word
will be: / िनη ĸЍ मg, पहल ेशо का दूसरे शо के साथ िकसी ĸकार स ेकोई सबंधं ह।ै यिद तीसरे शо का चौथ ेशо के
साथ उसी ĸकार का सबंधं होना चािहए, तो चौथा शо होगा:

Car : Engine :: Computer : ? / कार : इजंन :: ۵уЭटूर : ?

Vehicle / वाहन

Memory / ּפिृत

CPU

CD

Correct Answer :­CPU 

93)

Question Stimulus :­

In how many ways can we arrange 3 letters a,b,c by taking all at–a­time? / a,b,c  अāरो ंसभी
को एक साथ लते ेîए िकतन ेĸकार स ेइन 3 अāरो ंको Ґवεэथत िकया जा सकता ह?ै

6

2

1

3

Correct Answer :­6 

94)

Question Stimulus :­



Chaudhary travels 5 km towards west, then 0 km southwards, then travels 3 km towards east, and then
10 km northwards and finally goes 5 km westwards. How far is he from the starting place? / चौधरी पिЖम
की ओर 5िकमी याjा करता ह,ै िफर दिāण की ओर 0 िकमी, िफर परूब की ओर 3 िकमी, और िफर उ̃र की ओर 10 िकमी
और अतं मg पिЖम की ओर 5 िकमी जाता ह।ै वह आरंभ эथान स ेिकतना दूर ह?ै

10 km

7 km

8 km

12 km

Correct Answer :­12 km 

95)

Question Stimulus :­

A is older than B. C is older than A. C is younger than D. E is older than A. While D is younger than E, who is
the oldest of them all? / A, B स ेबढ़ा ह।ै C, A स ेबढ़ा ह।ै C, D स ेछोटा ह।ै E, A स ेबढ़ा ह।ै जबिक D, E स ेछोटा ह,ै
उन सब मg सबस ेबढ़ा कौन ह?ै

A

B

C

E

Correct Answer :­E 

96)

Question Stimulus :­

Select the option, which is the logical equivalent of the given statement:

/ वह िवकώ चिुनय ेजो तक└ की ۴िЊ स ेनीच ेिदय ेगय ेकथन के समान ह:ै

If we want to punch holes, then we need punching machine / यिद हम छेद करना चाहत ेहġ, तो हमg
पिंचगं मशीन की जiरत है

If we don’t want to punch holes, then we don’t need punching machine / यिद हम छेद नही ंकरना चाहत ेहġ, तो
हमg पिंचगं मशीन की जiरत नही ंहै

If we don’t want to punch holes, then we need punching machine / यिद हम छेद नही ंकरना चाहत ेहġ, तो हमg
पिंचगं मशीन की जiरत है



If we need punching machine, then we wanted to punch holes / यिद हमg पिंचगं मशीन की जiरत ह,ै तो हम
छेद करना चाहत ेथे

If we don’t need punching machine, then we didn’t wanted to punch holes / यिद हमg पिंचगं मशीन की जiरत
नही ंह,ै तो हम छेद नही ंकरना चाहत ेथे

Correct Answer :­If we don’t need punching machine, then we didn’t wanted to punch holes / यिद हमg
पिंचगं मशीन की जiरत नही ंह,ै तो हम छेद नही ंकरना चाहत ेथ े

97)

Question Stimulus :­

Select the option, which is the logical equivalent of the given statement:

/ वह िवकώ चिुनय ेजो तक└ की ۴िЊ स ेनीच ेिदय ेगय ेकथन के समान ह:ै

It is NOT true that both rose is a flower and tiger is an animal / यह सέ नही ंह ैिक गलुाब एक फूल
ह ैऔर बाघ एक जानवर है

Rose is a flower and tiger is not an animal / गलुाब एक फूल ह ैऔर बाघ एक जानवर नही ंहै

Rose is not a flower and tiger is not an animal / गलुाब एक फूल नही ंह ैऔर बाघ एक जानवर नही ंहै

Rose is not a flower or tiger is not an animal / गलुाब एक फूल नही ंह ैया बाघ एक जानवर नही ंहै

Rose is not a flower and tiger is an animal / गलुाब एक फूल नही ंह ैऔर बाघ एक जानवर है

Correct Answer :­Rose is not a flower or tiger is not an animal / गलुाब एक फूल नही ंह ैया बाघ एक जानवर
नही ंह ै

98)

Question Stimulus :­

Select the option that is true about the Statements and Conclusions given: / वह कथन चिुनय ेजो
िदय ेगय ेकथनो ंएव ंिनМष╗ के बारे मg सही हġ:

Statements: / कथन:

All students are rich. / सभी छाj अमीर हġ।

Some rich people are bright. / कुछ अमीर लोग होिशयार हġ।

    

Conclusions:  / िनМष└:

I. Some rich people are students. / I. कुछ अमीर लोग छाj हġ।

II. Some bright people are students / II. कुछ होिशयार लोग छाj हġ।



Only conclusion I follows / केवल िनМष└ I िनकलता है

Only conclusion II follows / केवल िनМष└ II िनकलता है

Either I or II follows / िनМष└ I या II िनकलता है

Neither I nor II follows / न तो िनМष└ I और न ही िनМष└ II िनकलता है

Correct Answer :­Only conclusion I follows / केवल िनМष└ I िनकलता ह ै

99)

Question Stimulus :­

Select the option that is true about the Statements and Conclusions given: / वह कथन चिुनय ेजो
िदय ेगय ेकथनो ंएव ंिनМष╗ के बारे मg सही हġ:

Statement:  / कथन:

Some books are fans. / कुछ िकताबg पखं ेहġ।

Some fans are skirts. / कुछ पखं ेЧट└्स हġ।

 

Conclusions: / िनМष└:

I. Some books are skirts. / I. कुछ िकताब ेЧटĝ हġ।

II. Some skirts are books. / II. कुछ Чटĝ िकताब ेहġ।

Only conclusion I follows / केवल िनМष└ I िनकलता है

Only conclusion II follows / केवल िनМष└ II िनकलता है

Either I or II follows / या तो िनМष└ I या तो िनМष└ II िनकलता है

Neither I nor II follows / न तो िनМष└ I और न ही िनМष└ II िनकलता है

Correct Answer :­Neither I nor II follows / न तो िनМष└ I और न ही िनМष└ II िनकलता ह ै

100)

Question Stimulus :­

Select the option that is true about the Statements and Conclusions given: / वह कथन चिुनय ेजो
िदय ेगय ेकथनो ंएव ंिनМष╗ के बारे मg सही हġ:

Statements:  / कथन:

All soldiers are brave.  / सभी िसपाही बहादरु हġ।



Some brave are jokers. / कुछ बहादरु जोकर हġ।

 

Conclusions: / िनМष└:

I. All soldiers are jokers. / I. सभी िसपाही जोकर हġ।

II. Some jokers are soldiers / II. कुछ जोकर िसपाही हġ।

Only conclusion I follows / केवल िनМष└ I िनकलता है

Only conclusion II follows / केवल िनМष└ II िनकलता है

Either I or II follows / या तो िनМष└ I या िफर िनМष└ II िनकलता है

Neither I nor II follows / न तो िनМष└ I और न ही िनМष└ II िनकलता है

Correct Answer :­Neither I nor II follows / न तो िनМष└ I और न ही िनМष└ II िनकलता ह ै


